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Question: 1 
   
Which two capabilities does Watson Knowledge Catalog enable for a business? 
 
A. Provide a glossary of terms to business users 
B. Track and manage specific corporate risks 
C. Catalog the locations and characteristics of data 
D. Maintain and control corporate policies 
E. Maintain a business continuity plan 
 

Answer: AB     
 

Question: 2 
   
Which Cloud Pak for Data base service allows you to identify patterns in data and create sophisticated 
visualizations? 
 
A. Planning Analytics 
B. Data Refinery 
C. Watson Assistant 
D. Cognos Dashboards 
 

Answer: D     
 

Question: 3 
   
Which two can be promoted to a deployment space? 
 
A. Platform connections 
B. Data Refinery flows and dependent assets 
C. Saved machine learning models 
D. Unsaved machine learning models 
E. Planning Analytics Workspace 
 

Answer: BC     
 
Explanation: 
Promoting assets to a deployment space 
The following assets can be promoted to a deployment space: 
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Saved models 
Data assets for use in model deployments 
Data refinery flows and dependent assets 
Connections defined in your project 
Scripts 
Functions 
Shiny apps 
https://www.ibm.com/docs/en/cloud-paks/cp-data/3.5.0?topic=functions-deployment-spaces 
 

Question: 4 
   
Which service is used to perform descriptive analytics and can answer the question, "what happened in 
my data?" 
 
A. SPSS 
B. Cognos Analytics 
C. Decision Optimization 
D. Watson Machine Learning 
 

Answer: C     
 

Question: 5 
   
What is the minimum number of worker nodes required on a production level Cloud Pak for Data Red 
Hat OpenShift cluster? 
 
A. 3 
B. 1 
C. 6 
D. 2 
 

Answer: A     
 
Explanation: 
A production-level cluster must have at least 3 worker nodes, but you might need to deploy additional 
worker nodes to support your workload. 
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